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1. Introduction
[bookmark: OLE_LINK110][bookmark: OLE_LINK111]In the last RAN4 meeting, WF [1] on NR extension to 71 GHz RRM performance requirements was approved. In this contribution, the remaining issue on general RRM performance requirements for NR extension to 71 GHz is further discussed.
2. Discussion
[bookmark: OLE_LINK108][bookmark: OLE_LINK109]Sub-topic 1-2: CCA aspects
In the RAN4#104bis-e meeting, the issue of DL CCA model in FR2-2 test cases has a conclusion, the tentative agreement made during the last meeting is duplicated as below [1]:
	Tentative agreement: For DL CCA model in FR2-2 test cases:
· TE picks one SSB occasion out of a group of each 12 consecutive SSB/SMTC occasions
· [bookmark: OLE_LINK98][bookmark: OLE_LINK99]For this SSB, TE determines with probability PCCA_DL whether to transmit this SSB or not. Note that other 11 SSBs shall be transmitted by the gNB
· If the TE decides not to transmit the SSB, one SSB index should be selected based on a fixed pattern that is not transmitted in this SSB
· If this happens the whole SSB occasion group is considered as unavailable to the UE


The above tentative agreement is basically fine with us. To make the agreement more accurate and clear, we further provide two modifications on the wording.
Firstly, for the second bullet, it is better to use ‘TE’ replace ‘gNB’ for the united description in test cases.
Secondly, for the third bullet, to avoid ambiguity, it should be clarified that a fixed pattern to select SSB index not transmitted in the SSB occasion picked out of each SSB occasion group. 
Proposal 1: For DL CCA model in FR2-2 test cases:
· TE picks one SSB occasion out of a group of each 12 consecutive SSB/SMTC occasions.
· For this SSB, TE determines with probability PCCA_DL whether to transmit this SSB or not. Note that other 11 SSBs shall be transmitted by the TE.
· If the TE decides not to transmit the SSB, one SSB index should be selected based on a fixed pattern that is not transmitted in this SSB occasion.
· If this happens the whole SSB occasion group is considered as unavailable to the UE.
3. Summary
[bookmark: OLE_LINK51]In this paper, we provide our views on DL CCA model in FR2-2 test cases for the extension to 71 GHz. From this discussion we have derived the following proposal:
Proposal 1: For DL CCA model in FR2-2 test cases:
· TE picks one SSB occasion out of a group of each 12 consecutive SSB/SMTC occasions.
· For this SSB, TE determines with probability PCCA_DL whether to transmit this SSB or not. Note that other 11 SSBs shall be transmitted by the TE.
· If the TE decides not to transmit the SSB, one SSB index should be selected based on a fixed pattern that is not transmitted in this SSB occasion.
· If this happens the whole SSB occasion group is considered as unavailable to the UE.
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